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SCIENCE

Academic area;

% Revise chapters: 2", 6" and 7" thoroughly.

< Draw diagrams of chapter 2" : category of microorganisms.

¢ Prepare a ppt for different types of diseases and their prevention methods.
Solve the assignment-1by clicking here assignment chapter 2
Solve assignment- 2, click here assignment chapter 7
Solve assignment-3, click here

Project work:

e Make a model of fire extinguisher at home by using bottle, baking soda and
vinegar.

e Draw destructive distillation diagrams on chart for coal and petroleum.

e Prepare a case study( ppt) on Covid-19 virus: Its origin, causes,
transmission, types of vaccinations and prevention methods.



https://www.google.com/url?sa=t&source=web&rct=j&url=https://www.spsrohini.com/sites/default/files/8%2520-%2520Science-Microorganisms-Assignment.pdf&ved=2ahUKEwim5a-Krt3wAhWkguYKHVeDC2YQFnoECB4QAQ&usg=AOvVaw0R6NEth9D_M2xGjg39yKUs&cshid=1621688976243
https://www.google.com/url?sa=t&source=web&rct=j&url=https://www.spsrohini.com/sites/default/files/8-Science-Combustion%20and%20Flame-Assignment.pdf&ved=2ahUKEwiJr9Lbrt3wAhWZ8HMBHfQ7B7YQFnoECAUQAQ&usg=AOvVaw1lUo_YLKC4FiU8fZJISuYv

SOCIAL SCIENCE

1. Make a Social science folder for poster and activities.

2. Make posters on A3/A4 sheets on the following topics

* Classification of resources with pictures.

* Preamble of the Constitution.

* Six fundamental rights (Hand activity)

3. Revise, learn and practice Ch-1 and Ch-16.

Activity based questions (Ch-1) Resources : Utilisation and Development

* As a young Indian how can you contribute in reversing the adverse impact of
human interference on environment. (100 words)

Activity based question (Ch-16) Our Constitution

* What would happen if there were no rules and regulation in the school? (120
words)




Maths

Find the cubes of the following numbers:

(i) 7 (i) 12 (iii) 16 (iv) 21
(v) 40
(vi) 55 (vii) 100 (viii) 302 (ix) 301
Observe the following pattern:
13=1

13+23=(1+2)2

P+22+3F=(1+2+3)?
Write the next three rows and calculate the value of 13 + 23+ 33+ ... + 9% +
102 by the above pattern.
Which of the following are cubes of even natural numbers?
216, 512, 729, 1000, 3375, 13824
Which of the following are cubes of odd natural numbers?
125, 343, 1728, 4096, 32768, 6859
What is the smallest number by which the following numbers must be
multiplied, so that the products are perfect cubes?
(i) 675 (i) 1323 (iii) 2560
(iv) 7803 (v) 107811 (vi) 35721
Find the volume of a cube, one face of which has an area of 64 m2,
Find the volume of a cube whose surface area is 384 m?.
Question based on finding cubes by column method:

Find the cubes of the following numbers by column method:

(i) 35 (ii) 56 (iii) 72
Using column method find the cubes of the following numbers:
(i) 98 (i) 99 (iii) 85

Cubes of negative numbers:




10.

11.

Find the cubes of:
(ih—11 (i) — 12 (i) — 21
Which of the following numbers are cubes of negative integers
(i) — 64 (i) — 1056 (iii) — 2197
(iv) —2744 (v) —42875
Cubes root of natural numbers:
Find the cube root of each of the following natural numbers:
(i) 343 (ii) 2744 (iii) 4913 (iv)
1728
(v) 35937 (vi) 17576 (vii) 134217728 (viii)
48228544
(ix) 74088000 (x) 157464 (xi) 1157625
(xii) 33698267
Find the smallest number which when multiplied with 3600 will make the
product a perfect cube. Further, find the cube root of the product.
Multiply 210125 by the smallest number so that the product is a perfect cube.

Also, find out the cube root of the product.

What is the smallest number by which 8192 must be divided so that quotient
IS a perfect cube? Also, find the cube root of the quotient so obtained.

Three numbers are in the ratio 1:2:3. The sum of their cubes is 98784. Find
the numbers.

The volume of a cube is 9261000 m3. Find the side of the cube.

Find the cube roots of each of the following integers:

(i) — 125 (ii) — 5832 (iii) — 2744000

(iv) — 753571 (v) — 32768




10.

11.

12.

13.

14,

15.

16.

Find the cube root of each of the following numbers:

(i) —1728 x216 (ii) —27 x 2744 (iii) — 729 x — 15625
Show that :

(i) 427 <364 =3[27x64 (ii) 3/64x729 =64 x 729

(i) 3/-125x216 = 3-125x 216 (iv) 3-125x-1000 =3/-125 x /-1000
Evaluate:

(i) Y4 x6° (i) ¥8x17x17x17

(iii) 3/700x2x 495 (iv) 125%a° — 3125a°

Show that:

» ;/1702090 B §/1702090 (i Z/_:;l; B i/_?ilsz

Evaluate each of the following:

0 {5 0 fro o

The volume of a cubical box is 474.552 cubic metres. Find the length of each
side of the box. [Competency based Questions]
Three numbers are to one another 2: 3: 4. The sum of their cubes is 0.334125.

Find the, numbers. [Competency based Questions]

24389

Find the side of a cube whose volume is m*. Competency based

Find the units digit of the cube root of the following numbers:
(i) 226981 (i) 13824 (iii) 571787 (iv) 175616

Question based on squares and property of squares:

Which of the following numbers are perfect squares?

(i) 484 (ii) 625 (iii) 576 (iv) 941 (v) 961
(vi) 2500




Show that each of the following numbers is a perfect square. Also, find the
number whose square is the given number in each case:

(i) 1156 (ii) 2025 (iii) 14641 (iv) 4761

Find the smallest number by which the given number must be multiplied so
that the product is a perfect square:

(i) 23805 (ii) 12150 (iii) 7688

Find the smallest number by which the given number must be divided so that
the resulting number is a perfect square :

(i) 14283 (ii) 1800 (iii) 2904

Using prime factorization method, find which of the following numbers are
perfect squares?

189, 225, 2048, 343, 441, 2916,11025, 3549

By what number should each of the following numbers be multiplied to get a

perfect square in each case? Also, find the number whose square is the new

number.

(i) 8820 (ii) 3675 (iii) 605 (iv)
2880

(v) 4056 (vi) 3468 (vii) 7776

Question based on Pythagorean triplet:

Write a Pythagorean triplet whose one member is.

(i) 6 (ii) 14 (iii) 16
(iv) 18
Which of the following triplets are Pythagorean?
(i) (8, 15, 17) (ii) (18, 80, 82) (iii) (14, 48, 51) (iv)
(10, 24, 26)

(v) (16, 63, 65) (vi) (12, 35, 38)
Question based on Pattern:




10.

11.

12.

Observe the following pattern

1+3=2?

1+3+5=3

1+3x5+7=4"

and write the valueof 1 +3+5+7+9+ ....... upto n terms.
Observe the following pattern

2 -1*=2+1 3*-22=3+2

4°-3*=4+3 5" —4*=5+4

and find the value of

(i) 100* —99° (if) 111*-109? (iii) 99° - 96
Observe the following pattern

(1x2)+(2x3)= 22374

(1x2)+(2x3) +(3x4) = 22 2X5

4x5x%x6

(1x2)+(2x3)+(3x4)+(4x5)=

and find the value of (1x2)+(2x3)+(3x4)+(4x5)+ (5 x6)
Observe the following pattern

12=% [1x (1+1) x(2x1+1)]
12+22=% 2x (2+1)x (2x2+1)]
124274+ 32 =%[3x (B+1)x (2x 3+1)]

12+2%+3%+ 4° :%[4x 4+1)x (2x4+1)]

and find the values of each of the following:




13.

14,

15.

16.

17.

(i) 12+2%+3%+4%+..+10° (ii) 52+ 62+ 72+ 82 + 92 + 10% + 112 + 122
Finding square by different methods:

Find the squares of the following numbers:

(i) 65 (ii) 85 (iii) 95
Find the squares of the following numbers:

(i) 56 (ii) 58 (iii) 59
Find the squares of the following numbers:

(i) 527 (ii) 514 (iii) 525

Find the square of the following numbers using the identity (a + b)? = a? + 2ab
+ b?

(i) 509 (ii) 211 (iii) 625

Find the square of the following numbers using the identity (a — b)? = a> — 2ab
+ b%

(i) 491 (ii) 189 (iiii) 575

Compute square roots by prime factorization method:

Find the square root of each of the following by prime factorization.

(i) 441 (ii) 196 (iii) 529 (iv)
1764
(v) 1156 (vi) 4096 (vii) 7056

(viii) 8281
(ix) 11664 (x) 47089 (xi) 24336 (xii)
190969
(xiii) 586756 (Xiv) 27225 (xv) 3013696

Find the smallest number by which 180 must be multiplied so that it becomes

a perfect square. Also, find the square root of the perfect square so obtained.




Find the smallest number by which 147 must he multiplied so that it becomes
a perfect square. Also find the square root of the number so obtained.

Find the smallest number by which 3645 must be divided so that it becomes a
perfect square. Also, find the square root of the resulting number.
Application based on square roots:

The product of two numbers is 1296. If one number is 16 times the other, find
the numbers.

A welfare association collected Rs 202500 as donation from the residents. If
each paid as many rupees as there were residents, find the number of
residents.[Competency based Questions]

A society collected Rs 92. 16. Each member collected as many paise as there
were members. How many members were there and how much did each
contribute? [Competency based Questions]

A school collected Rs 2304 as fees from its students. If each student paid as
many paise as there were students in the school, how many students were
there in the school? [Competency based Questions]

Compute square roots by long division method:

Find the square root of each of the following by long division method:

(i) 12544 (ii) 97344 (iii) 286225 (iv)
390625
(v) 363609 (vi) 974169 (vii) 120409 (viii)
1471369
(ix) 291600 (x) 9653449 (xi) 1745041

(xii) 4008004
(xiii) 20657025 (xiv) 152547201 (xv) 20421361

(xvi) 62504836




10.

11.

12.

(xvii) 82264900
(xx) 3915380329

Find the least number which must be subtracted from the following numbers

(xviii) 3226694416 (xix) 6407522209

to make them a perfect square :
(i) 2361 (ii) 194491
4401624

Find the least number which must be added to the following numbers to make

(iiii) 26535 (iv) 16160 (v)

them a perfect square :

(1) 5607 (i) 4931 (iii) 4515600 (iv) 37460
(v) 506900
Square roots of the rational numbers:
Find the square root of :
441 .\ 324 .\ 29 :
0] o1 (i) o1l D) 45 (iv)
2 14
25
137 : 26 . 544
(V) Zﬁ (vi) 23a (vii) 25ﬁ (viil)
75 20
49
: 942 334 N . 2797 .
(ix) 3% (X) 3ﬁ (xi) 21ﬁ (xii)
38 11
25
394 : 51 151
(xiii) 23ﬁ (xiv) 21E (xv) mﬁ




13.

14,

15.

16.

17.
18.

19.

Find the value of :

0] @ (i) @ D) V1587
J405 J625 J1728
(iv) V72 x+/338 (V) J45x+20

The area of a square field is 80 % square metres. Find the length of each

side of the field.

Square roots of rational numbers in decimal form:

Find the square root of the following numbers in decimal form :

(i) 84.8241 (i) 0.7225 (iii) 0.813604 (iv)
0.00002025 (v) 150.0625

/59.29 —/5. 29 /0.2304 + ,/0.1764

Stmplity: (1) V/59.29 +4/5.29 (1 /02304 — ,/0.1764
Evaluate /50625 and hence find the value of v/506.25 +/5.0625

Find the value of ,/103.0225 and hence find the value of

(i) V1030225 (ii) v1.030225

Find the square root of each of the following correct to three places of
decimal.

(i) 5 (ii) 7 (iii) 17 (iv) 20




English
1) Create a PPT on the life and works of APJ Abdul Kalam

2) Read any story by Ruskin Bond

Write a book review and make an attractive book cover for the story.
3). Complete the assignments and creative competency based worksheets of all
the chapters done in the class .( Posted and assigned in your Google classroom)
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